e

L HAIN

HEAOWAY

HYDRAULIC
TOOL HOLDER

SERIES

LHC
&ﬁﬂmﬁ%




LRI AE

BRAVEREEAE - TIEFRE

N =

REZGERRIEFAVRRE

B =1

FH:

ENIHREES -
&8 - EERENLE - B0 LOMBBIEMRE - TRR

EENMIMR - AKIER (/B ERSD - FE CAHEAK -

Anti-vibration Performance

Excellent vibration absorption performance

ensures optimal workpiece surface quality.
The advanced hydraulic system is engineered with a precision liquid framework that
delivers superior damping capabilities, effectively minimizing microscopic chipping on
the cutting edge. This innovation enhances machining performance, maximizes tool
longevity, and significantly reduces operational costs, ensuring exceptional efficiency

and reliability.

LHC & B2 T4

RERJITRELTH IS £ E th 251 TR EEER

Comparison Chart: Hydraulic Toolholder vs. Other Toolholder Types

02

: ER 7J## EUIE WAL ] IRE TR
LHC HydraulicTool * pp cojiet Chuck  Side Lock Holder  Shrink-Fit Chuck
Holder
TREE ++ - - +
Run-Out Accuracy 0.003mm ( 2.5D) 0.01-0.02mm 0.01mm 0.005mm
BE it ) ) )
Process Reliabilty
71 (@20mm) 4 O - +
Torque (920mm) 900Nm 220Nm Fo?n%ﬁ%ifé?ng 420Nm
EmmE
Radial Rigidity i ] i )
AR ++ O - -
Damping
ETE o
Collet Compatibility + ((C?)ﬁji t)) - -
REFMEEAM (d) ey ot ) )
Clamping Versatility (d)
RERITEERB S it N N )
Handling and Operability
FhEERRE
Dirt Resistance i i " i
REBBIGEE
Exact Length Pre- ++ - - -
Adjustment
SRR b BRARF + BETE| RRF ¢ 2ETE ‘
. _mn 7 3 > ! 3 B V55 4
NeceEssary Perltpheral . ﬂx?{(i%i Hook Wrench+ Hex Key chr k%itul\%}l% "
quipments ex ey Assembly Tool +Assembly Tool rinkerit Machine
++ff +F OEBBE -A¥

++ Verygood + Good O Neutral -Bad




I IRER BTN 25

Standard Hydraulic Series

BT40-LHC12-58 09031

G2.5 25000RPM

O EEER20MmMEE - RAIIFRESEIOONME/NMAFES20Nm B E -
O EEER32mmES - BAFIFHIESE2000NmE/NHEEIOONm B E -
O FELEFMEEREERE0.003mm LLR(2.5D) -

O TImIARSEMTIAR - # - B 0% -

O EST1E100%ME® - BANEEFEM AR -

O EFRHIEMTRERRT] - ERA—RAAERTF -

O #Ex=2ZH  BELEBNE EREREM -

O 1Z=#8)F% G2.5 25000 RPM -

) Ata 20mm diameter, the maximum clamping torque reaches 900Nm,
with a minimum torque of 520Nm or more.

) Ata32mm diameter, the maximum clamping torque reaches 2000Nm,
with a minimum torque of 900Nm or more.

) Concentricity and repeatability within 0.003mm (2.5D).

) Suitable for various machining operations, including milling, drilling,
and reaming.

) Enhances tool lifespan by 100%, significantly reducing consumable costs.
) A standard hex wrench for fast and effortless tool changes.

) Fully enclosed design prevents dust, chips, and coolant intrusion,
ensuring long-lasting durability.

) Standard dynamic balancing G2.5 at 25,000 RPM, delivering superior
stability and precision.



A B T4 251

EXTENDED HYDRAULIC

LHC/R

TOOL HOLDER SERIES

-

{

r

] R ks X" EE
Type Runout Accuracy Bore Spindle Length
@6-20mm 3f&&:3 um
& A @25-32mm 3fZE:5 um
/) RBRFLELS0RIL E: 7 um 43, | SBT(BBT)-BT
3 @6-20mm, 3x length: 3pym mm » HSK ~ CAT 70~150
LHC/R @25-32mm, 3x length: 5um ~ DAT mm
R Type >150mm length,
any bore size: 7um
%v @6-20mm 3fZ&:3 um 6~20 BT~ 110~190
HSK50/63/100
LHC/RS @6-20mm, 3x Length: 3um mm DAT40 mm
HEMRE
Tapered
Extended T
\X ended Type
-2 EEE - BNARTFEE
-Includes dynamic balancing, allowing secure tightening with a hex wrench.
-
@6 mm 16Nm @16 mm 185Nm
@8 mm 23Nm @18 mm 280Nm
@10 mm 45Nm @20 mm 430Nm
@12 mm 95Nm @25 mm 650Nm
g @14 mm 110Nm @32 mm 900Nm

-BEfEAh6/]B - ERHERRT]

-JJEolEECsEEE ~ #57) - 8] - PCDRESER e

-Recommended to use h6 tolerance tools for optimal clamping force.
-Compatible with drills, end mills, reamers, and PCD profile milling cutters.




LHC & E2J] 1 %2 5

HYDRAULIC TOOL HOLDER SERIES

CHAIN HYDRAULIC TOOL HOLDER

HEAIIWAY

iz I BT/LHC & & JJ 47

EOEMEZEIBEEE 0.003mm LA (2.5D)
Concentricity and Repeatability within 0.003mm (2.5D)

ERE
d
d2

Fig.3 “\ [ I T
| 4% Feature

- INERIBR TR IMERRIE T8 - BEERRBREES -Small-Diameter Hydraulic Toolholder: Reduced outer diameter
-BHEA20mm B sAKEHEESE 900NmM &/\H%E 520Nm LLE - minimizes interference, eliminating the need for reduction sleeves.
-EEAS3I2MmM S - BAKISEHESE 2000Nm &/ B4 900Nm LA L - -Diameter 20mm, maximum clamping torque up to 900Nm, minimum
torque above 520Nm.
-Diameter 32mm, maximum clamping torque up to 2000Nm, minimum
torque above 900Nm.

BT30-LHC12-69 69 46 32 4.5 47 23 12 42 | 445 | M8-1.0P PT5 110 1 0.60
BT30-LHC20-90 90 51 50 5 68 39 20 42 | 445 | M8-1.0P PT5 400 1 0.90
BT40-LHC6-90 90.5 | 37 43 36 | 205 | 63 6 26 | 445 | M5-10P PT5 - 3 1.40
BT40-LHC8-90 905 | 37 | 445 | 3.6 | 205 | 63 8 28 | 445 | M6-1.0P PT5 - 3 1.40
BT40-LHC10-90 | 905 | 41 | 445 | 3.6 | 205 | 63 10 30 | 445 | M8-1.0P PT5 - 3 1.40
BT40-LHC12-58 58 46 - 4.5 31 31 12 42 - M8-1.0P PT5 110 2 1.20
BT40-LHC16-72 | 725 | 51 - 5 37 | 455 16 |49.25 - M8-1.0P PT5 350 2 1.30
BT40-LHC20-72 | 725 | 51 - 5 37 | 455 | 20 |49.25 - M8-1.0P PT5 520 2 1.40
BT40-LHC32-120 | 120 61 - 6 44 80 32 | 625 - M8-1.0P PT6 900 2 2.38
BT50-LHC20-83 | 835 | 51 - 5 37 | 455 | 20 |49.25 - M8-1.0P PT5 520 2 4.10
BT50-LHC32-90 90 61 - 6 44 52 32 72 - M8-1.0P PT6 900 2 4.60

« R E EiI Unit of Length (mm)

05



LHC ‘REE2 ] £ 5

HYDRAULIC TOOL HOLDER SERIES

(7> | HSK/LHC B EEE T4

CHAIN HSK/LHC TORQUE HYDRAULIC TOOL HOLDER

HEAOWAY

EOEMEEIEERE 0.003mm LA (2.5D)
Concentricity and Repeatability within 0.003mm (2.5D)

d2

| 4525 Feature

- INERB TR IMERRETH - ERERRBERES -Small-Diameter Hydraulic Toolholder: Reduced outer diameter
- BB 20mm i - S AKFHRESZE 900Nm &/NAFE 520Nm B E - minimizes interference, eliminating the need for reduction sleeves.
-EEB32mm B - RAKIEREESE 2000Nm &/M\HEE 900Nm BL E - -Diameter 20mm, maximum clamping torque up to 900Nm, minimum

torque above 520Nm.
-Diameter 32mm, maximum clamping torque up to 2000Nm, minimum
torque above 900Nm.
HhE E=2
W?iefch (N.m) (KGS)
Torque Weight
HSK63AXLHC6-70 70 37 25 - 21 43 6 26 50 M5 PT5 - -
HSK63AXLHC8-70 70 37 25 - 21 43 8 28 50 Mé PT5 - -
HSK63AxLHC10-80 80 41 35 - 31 53 10 30 50 | M8-10P | PT5 - -
HSK63AxLHC12-80 80 46 34 4.5 31 54 12 42 525 | M8-10P | PT5 110 1.25
HSK63AxLHC16-80 80 51 - 5 37 54 16 525 - M8-1.0P | PT5 350 1.30
HSK63AxLHC20-80 80 51 - 5 37 54 20 525 - M8-1.0P | PT5 520 1.32
HSK63AXLHC32-120 120 61 - 6 44 94.05 32 62.5 - M8-1.0P | PT6 900 2.66
HSK100AxLHC20-90 90 51 - 5 37 61 20 525 - M8-1.0P | PT5 520 2.80
HSK100AxLHC32-100 100 61 - 6 44 71 32 72 - M8-1.0P | PTé6 900 3.80

06 - EEE{I Unit of Length (mm)



LHC SEE 3R B2 T) 1 %51

DUAL DRIVE HYDRAULIC TOOL HOLDER SERIES

{7~ || SBT/LHC £ it 5% & B TR

CHAIN Dual Drive HYDRAULIC TOOL HOLDER

HEALWAY
R %51
R Series

L2

11 —| | ol
I\[ a A A A

14
L1 o
| 4525 Feature
- fRAEE) T : G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

SHENRAE  AERIB4 R4 2=
#MAE  Adjustment IRF (KGS)
Torque screw Wrench Weight

SBT30-LHC6R-70 6 |23|26|445| 70 |37.5|275| 28 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 0.7
SBT30-LHC8R-70 8 |25|28|445| 70 |375|275| 28 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 0.8
SBT30-LHC10R-75 |10 |27 |30 |44.5| 75 [425|325| 36 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 0.8

SHE| 9B 44 wRF
Clamping screw  Wrench

D1 D2 D3 D4

SBT30-LHC12R-75 |12 |29 |32|445 | 75 |475|375| 36 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PTS 0.9

SBT30-LHC14R-85 |14 |31 |34 |445 | 85 [47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 0.9
SBT30-LHC16R-90 |16 |35 |38 |44.5| 90 [52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 1.0
SBT30-LHC18R-90 |18 |37 |40 |44.5 | 90 [52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 1.0
SBT30-LHC20R-90 |20 (39|42 |44.5 | 90 | 525|425 | 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 11

SBT40-LHC6R-90 6 (23|26 50 |90 |375|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 15
SBT40-LHC8R-90 8 [25|28| 50 |90 |375|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 15

SBT40-LHC10R-90 |10 |27 |30| 50 | 90 |425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 15
SBT40-LHC12R-90 [12(29|32| 50 | 90 [47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 15
SBT40-LHC14R-90 |14 |31 (34| 50 | 90 |47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 16
SBT40-LHC16R-90 |16 |35 (38| 50 | 90 |52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 16
SBT40-LHC18R-90 |18 |37 (40| 50 | 90 |52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 16

SBT40-LHC20R-90 |20 |39 (42| 50 | 90 |52.5|425| 48 |LHC-M10-1.5P-14L| PT5 55Nm. |[AJ-M12*1.0| PT6 16

SBT40-LHC25R-100 | 25 |53 (57| - |[100| 61 | 51 | - |LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 22

SBT40-LHC32R-105 |32 |58 {63 | - [105| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 24

« EEEI Unitof Length(mm) Q7



LHC S ERE R I 251

DUAL DRIVE HYDRAULIC TOOL HOLDER SERIES

{7~ || SBT/LHC £ it 5% & B TR

CHAIN Dual Drive HYDRAULIC TOOL HOLDER

HEALWAY
R %51
R Series
12

13

g
— 3883
L] j,

L4

| 4525 Feature
- IREEB) 4 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

SHENRAE ARIB4  HEEB% ==
#MAE Adjustment #WmF  (KGS)
Torque screw Wrench Weight

2326|5090 |375]275]| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 4.2

D1 D2 D3 SEIR 44 RE

Clamping screw  Wrench

SBT50-LHC6R-90 6

SBT50-LHC6R-140 6

SBT50-LHC8R-90 8 |25(28|50| 90 |375]|275]| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.2
SBT50-LHC8R-140 8 |25(28|50|140|375|275]| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 48
SBT50-LHC10R-90 |10 (27 |30|50| 90 {425|325| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 43
SBT50-LHC10R-140 |10 |27 | 30|50 |140(425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 49
SBT50-LHC12R-90 |12 (29|32|50| 90 {47.5|37.5| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 43
SBT50-LHC12R-140 |12 |29 |32|50|140(475|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 49
SBT50-LHC14R-90 |14 |31 |34 (50| 90 |47.5|375| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 43

23126 |50|140|37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 4.8

SBT50-LHC14R-140 | 14|31 |34 |50|140|47.5|375| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PTS 49
SBT50-LHC16R-90 |16 |35|38 (50| 90 | 525|425 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 44
SBT50-LHC16R-140 | 16 | 35|38 |50 |140|525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 5.0
SBT50-LHC18R-90 |18 |37 |40|50| 90 |525|425| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 44
SBT50-LHC18R-140 | 18 | 37 | 40|50 | 140 (525|425 | 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 5.0
SBT50-LHC20R-90 |20 (39|42|50| 90 [525|425| 32 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 44
SBT50-LHC20R-140 | 20 [ 39|42 |50 |140|525|425| 48 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 5.0

SBT50-LHC25R-105 | 25|53 |57 | - |105| 61 | 51 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 49
SBT50-LHC25R-150 | 25|53 |57 | - |150| 61 | 51 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 55
SBT50-LHC32R-115 | 32|58 |63 | - |115| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 51
SBT50-LHC32R-150 |32 (58 |63| - [150| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 5.9

08 - EEE{I Unit of Length (mm)



LHC & E2J] 1 %2 5

HYDRAULIC TOOL HOLDER SERIES

(7> | BT/LHC BEJIHA

CHAIN HYDRAULIC TOOL HOLDER

HEALWAY
R %51
R Series

L3

‘ Dl
D2

D3

D4

\\_

14

| 4% Feature
- IREEB) 4 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERME PERB%  ERR  BS
FHNE Adjustment #RF  (KGS)
Torque screw  Wrench Weight

H B IR 4% wRF
Clamping screw  Wrench

D1 D2 D3

BT30-LHC6R-70 6 |23|26|445| 70 |37.5|275| 28 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 0.7

BT30-LHC8R-70 8 2528|445 | 70 |375(275| 28 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 0.8

BT30-LHC10R-75 1027 |30|445| 75 |425|325| 36 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 0.8

BT30-LHC12R-75 |12 (29|32 |445| 75 |475|375| 36 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 0.9

BT30-LHC14R-85 |14 |31 |34|445| 85 |475|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 0.9

BT30-LHC16R-90 |16 |35|38|445| 90 |525|42.5| 48 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 1.0
BT30-LHC18R-90 |18 |37 (40 |44.5| 90 |52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 1.0
BT30-LHC20R-90 |20 |39 (42 |445| 90 |525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 1.0
6 [23|26| 50 | 65 |375(275| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 13
6 [23|26| 50 | 90 |375(275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 14
BT40-LHC6R-140 6 [23|26| 50 [140|37.5(275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 2.2
8
8
8

BT40-LHC6R-65

BT40-LHC6R-90

BT40-LHC8R-65
BT40-LHC8R-90 25|28 | 50 | 90 |37.5|27.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 15
BT40-LHC8R-140 25|28 | 50 |140|375|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 2.3
BT40-LHC10R-65 |10 |27 (30| 50 | 65 [42.5|325| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 13
BT40-LHC10R-90 |10 |27 (30| 50 | 90 (42.5|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 15
BT40-LHC10R-140 | 10|27 |30 | 50 |140|425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 2.3
BT40-LHC12R-65 |12|29|32| 50 | 65 |47.5|37.5| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 13
BT40-LHC12R-90 |12 (29|32 | 50 | 90 |47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 15

25|28 | 50 | 65 |375(275| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 13

BT40-LHC12R-140 |12 |29 (32| 50 |140|47.5|375| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 23

BT40-LHC14R-65 14 131|34| 50 | 65 |475|375]| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 14
BT40-LHC14R-90 14|31|34| 50 | 90 [47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 1.6

BT40-LHC14R-140 |14 |31 |34 | 50 |140|47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 24

« E[EE ] Unit of Length(mm) Q9



LHC ‘REE2 ] £ 5

HYDRAULIC TOOL HOLDER SERIES

{7> || BT/LHC SR B J]4#

CHAIN HYDRAULIC TOOL HOLDER

HEALWAY
R %51
R Series L2

L3

L4

| 4% Feature
- 1RAEF) T : G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

- HERME PERBSR BB 8=
SHIZL SR 44 BFE  “ymnm Adjustment HEFE  (KGS)
Torque screw Wrench Weight

<
s D1 D2 D3

Spec. Clamping screw  Wrench

BT40-LHC16R-65 |[16|35|38|50| 65 |525|425]| 23 [LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 14
BT40-LHC16R-90 |[16|35|38|50| 90 |525|425| 48 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 16
BT40-LHC16R-140 | 16|35 |38 |50|140|525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 24
BT40-LHC18R-75 |18 |37 |40|50| 75 |52.5|425| 30 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 15

BT40-LHC18R-90 |18 |37 |40|50| 90 | 525|425 | 48 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 17
BT40-LHC18R-140 | 18 | 37 | 40| 50 |140| 525|425 | 48 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 24
BT40-LHC20R-75 |20 |39|42|50| 75 |52.5|425| 30 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 15
BT40-LHC20R-90 |20 [39|42|50| 90 | 525|425 | 48 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 17
BT40-LHC20R-140 | 20|39 |42 |50|140|525|425| 48 |LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 24

BT40-LHC25R-100 | 25|53 |57 |50|100| 61 | 51 | - [LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 22
BT40-LHC25R-135 | 25|53 |57 |50(135| 61 | 51 | - [LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 29
BT40-LHC32R-105 |32 |58 |62|50|105| 65 | 55 | - |[LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 24
BT40-LHC32R-135 |32 |58 |62|50|135| 65 | 55 | - |[LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 31

10 - EEEE{ Unit of Length (mm)



LHC & E2J] 1 %2 5

HYDRAULIC TOOL HOLDER SERIES

(7> | BT/LHC BEJIHA

CHAIN HYDRAULIC TOOL HOLDER

HEALWAY
R %51
R Series

. 13
/ '
A I\ — —r ELS o X
L4
L
| 4% Feature
- 1RAEB) A G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERAE RAERB4%  REs B2
ZMAME Adjustment  IRFE  (KGS)
Torque screw Wrench Weight

HE IR 44 wRF
Clamping screw  Wrench

D1 D2 D3

BT50-LHC6R-90 6 |23|126|50| 90 [375]275]| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 4.2
BT50-LHC6R-120 6 |23|26|50(120|37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 45
BT50-LHC6R-140 6 |23|26|50|140|375|27.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 4.8

8

8

8

BT50-LHC8R-90
BT50-LHC8R-120

25128 (50| 90 [375]27.5| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.2

25128|50(120|375|27.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.5

BT50-LHC8R-140 25128 |50(140|375|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.8

BT50-LHC10R-90 10|27 (30 |50| 90 |425|325| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 4.2
BT50-LHC10R-120 |10 |27 |30|50 (120|425 |32.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 4.5
BT50-LHC10R-140 | 10|27 |30 |50 |140|425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 4.8
BT50-LHC12R-90 1229|3250 90 {475|37.5| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 43
BT50-LHC12R-120 |12 |29 |32|50|120|47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.5
BT50-LHC12R-140 |12 |29 |32|50|140|47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.8

BT50-LHC14R-90 143134 |50| 90 |47.5|375| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 43

BT50-LHC14R-120 |14 |31 |34|50|120|47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 46
BT50-LHC14R-140 | 14|31 |34|50|140|47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.8
BT50-LHC16R-90 16 (35|38|50| 90 | 525|425 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 43
BT50-LHC16R-120 | 16| 35|38 |50|120|52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.6
BT50-LHC16R-140 |16 |35|38|50|140|525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 49
BT50-LHC18R-90 18 37 |40|50| 90 | 525|425 | 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 44
BT50-LHC18R-120 |18 |37 |40|50|120|525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.6

BT50-LHC18R-140 |18 |37 |40|50|140|525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 49

BT50-LHC20R-90 20(39|42|50| 90 [525(425| 32 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 44
BT50-LHC20R-120 | 20|39 |42 |50|120|525|425| 48 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 47
BT50-LHC20R-140 | 20|39 |42 |50|140|525|425| 48 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 49
BT50-LHC25R-105 | 25|53 (57| - |105| 61 | 51 - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0 PT6 438

« REEMI Unitof Length(mm) 11




12

LHC ‘REE2 ] £ 5

HYDRAULIC TOOL HOLDER SERIES

{7> || BT/LHC SR B J14#

CHAIN HYDRAULIC TOOL HOLDER

HEAIIWAY

| 4525 Feature
- EEBFEA  G2.5 25000rpm

D3

D4 L1

R %51
R Series

)

7 oz

u\

ill

Aol
D2
D3

D4

14

-Dynamic Balancing G2.5 at 25000rpm

H | 1R 4 wRF

Clamping screw  Wrench

SHE R AR
&HNE

Torque

AR A
Adjustment
screw

B R A
wRF

58
((ED)]

Wrench Weight

BT50-LHC25R-150 | 25|53 (57| - |150| 61 | 51 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 5.6
BT50-LHC32R-115 |32 |58 (62| - |115| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 51
BT50-LHC32R-150 |32 |58 (62| - |150| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 5.8

« R E E I Unit of Length (mm)




LHC R ENM&R&ERE I £5

SLIM & TAPER HYDRAULIC TOOL HOLDER SERIES

CHAIN SLIM & TAPER HYDRAULIC TOOL HOLDER

HEAIIWAY
RS %5l
RS Series
[ H:H —T1 B

iz I BT/LHC £ E 1N & & B J] 4R

| 4% Feature
- IS4 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

SR RE HERME BERB% WRBs =S

Clamping screw  Wrench

FMAME  Adjustment  IRF  (KGS)
Torque screw Wrench Weight

BT30-LHC6RS-110 6 |16 |24|445 |110|375|275| 66 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 0.9
BT30-LHC8RS-110 8 | 1826|445 |110|375|275| 66 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 0.9
BT30-LHC10RS-110 | 10| 20|28 | 445 |110|425|325| 67 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 11
BT30-LHC12RS-110 | 12|22 |30 |445|110|47.5|37.5| 67 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 1.2
BT40-LHC6RS-150 6 (16|24 | 50 |150|37.5|27.5|103 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 1.6

BT40-LHC8RS-150 8 [18|26| 50 [150|37.5|27.5|104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 1.7

BT40-LHC10RS-150 | 10 {20 |28 | 50 |150|42.5|325|104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 1.7
BT40-LHC12RS-150 |12 {22 |30 | 50 |150|47.5|37.5]|105 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 18
BT40-LHC14RS-150 | 14 {24 |32 | 50 |150|47.5|37.5]|105 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 1.8
BT40-LHC16RS-150 | 16 | 26 | 34| 50 |150|52.5|425|106 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 19
BT40-LHC18RS-150 | 18|28 |36 | 50 |150|52.5]|42.5|107 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 1.9
BT40-LHC20RS-150 | 20| 30|38 | 50 |150|52.5|42.5|108 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 2.0

BT50-LHC6RS-190 6 (16|24 | 50 [190|37.5|27.5|120 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 43

BT50-LHC8RS-190 8 (18| 26| 50 [190|37.5|27.5|120|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 43
BT50-LHC10RS-190 | 10 {20 |28 | 50 |190|42.5|325|120 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 4.4
BT50-LHC12RS-190 |12 {22 |30| 50 |190|47.5|37.5|120 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PTS5 44
BT50-LHC14RS-190 | 14 {24 |32 | 50 |190|47.5|375|121 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.5
BT50-LHC16RS-190 | 16|26 |34 | 50 |190|52.5|42.5|121 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.5
BT50-LHC18RS-190 |18 |28 |36 | 50 |190|52.5]|42.5|122|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.6
BT50-LHC20RS-190 | 20| 30|38 | 50 |190|52.5]|42.5|122|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.7

« REEI Unitof Length(mm) 13



LHC &EB2 ]tk %5

HYDRAULIC TOOL HOLDER SERIES

7> || HSK/LHC & B J] 4@

CHAIN HYDRAULIC TOOL HOLDER

HEALWAY
R %51 ]
R Series

Fig.1 i g}l“

Fig.2

| 4% Feature
- IRAEE) I G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm
HERAE AREBL IR =2

ZMAE Adjustment #4IRF  (KGS) Fig.
Torque screw Wrench Weight

HE IR 4% wRF
Clamping screw  Wrench

D1 D2 D3

HSK63A-LHC6R-70 23126|50| 70 |375]27.5| 24 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 1.0

HSK63A-LHC6R-150 23126 |50(150|37.5]27.5|103 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 1.0

HSK63A-LHC6R-200 23|26 |50|200|37.5|27.5| 153 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 23

HSK63A-LHC8R-70 25128 50| 70 | 37.5|27.5| 24 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 1.0

HSK63A-LHC8R-150 25|28 |50|150|37.5|27.5| 104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 1.5

| |0 |Oo|O | O

HSKé63A-LHC8R-200 25|28 |50|200|37.5|27.5| 154 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 23

HSK63A-LHC10R-80 |10 |27 |30 |50 | 80 [425|325| 35 [LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 11

HSK63A-LHC10R-150 | 10 | 27 | 30 | 50 | 150 [ 42.5 | 32.5 | 104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 16

HSK63A-LHC10R-200 | 10 | 27 | 30 | 50 | 200 | 42.5 | 32.5 | 154 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 24

HSK63A-LHC12R-85 |12 (29|32 |50 | 85 [47.5|37.5| 40 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 1.2

HSK63A-LHC12R-150 | 12 | 29 | 32 | 50 | 150 [ 47.5 | 37.5 | 105 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 17

HSK63A-LHC12R-200 | 12 | 29 | 32 | 50 | 200 | 47.5 | 37.5 | 155 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 24

HSK63A-LHC14R-85 |14 31|34 |50 | 85 [47.5|37.5| 40 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 1.2

HSK63A-LHC14R-150| 14 | 31 | 34 | 50 | 150 | 47.5 | 37.5 | 105 | LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 17
HSK63A-LHC14R-200| 14 | 31 | 34 | 50 | 200 | 47.5 | 37.5 | 155 | LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 24

HSK63A-LHC16R-90 |16 | 35|38 |50 | 90 |52.5|42.5| 46 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 13

HSK63A-LHC16R-150| 16 | 35 | 38 | 50 | 150 | 52.5 | 42.5 | 106 | LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 18
HSK63A-LHC16R-200| 16 | 35 | 38 | 50 | 200 | 52.5|42.5 | 156 | LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 24
HSK63A-LHC18R-90 |18 |37 (40|50 | 90 |52.5|425| 47 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 13
HSK63A-LHC18R-150| 18 | 37 | 40 | 50 | 150 | 52.5|42.5 | 107 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 1.9
HSK63A-LHC18R-200| 18 | 37 | 40 | 50 | 200 | 52.5 | 42.5 | 157 | LHC-M8-1.25P-14L| PT4 5.5Nm. |AJ-M12*1.0| PT6 25

NN ERE NN INNINIEPRININ RN ININRPRINN] -

14 - REEE{I Unit of Length (mm)



LHC & E2J] 1 %2 5

HYDRAULIC TOOL HOLDER SERIES

7> || HSK/LHC & B J] 4@

CHAIN || HYDRAULIC TOOL HOLDER
=
R Series —
Fig.1 g% ISy

Fig.2
| 42 Feature i 1
- BB G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

SHEIBk RE HERME WERG WREB% F=S

Clamping screw  Wrench

ZMAE Adjustment H®F  (KGS) Fig.
Torque screw  Wrench Weight

HSK63A-LHC20R-90 20139|42| 50 |90 |525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 13 1
HSK63A-LHC20R-150 |20 |39|42| 50 |150|52.5|42.5|108 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 20 2
HSK63A-LHC20R-200 |20 |39 |42 | 50 |200|52.5|42.5 | 158 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 2.6 2
HSK63A-LHC25R-120 | 25|46 |50 | - |120| 61 | 51 | - |LHC-M10-15P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 23 1
HSK63A-LHC32R-125 | 32| 56 | 60 | 52.5|125| 65 | 55 - |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 2.8 1
HSK100A-LHC6R-75 6 |23|26| 50 | 75|37.5|275| 26 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 26 1
HSK100A-LHC6R-160 6 |23|26| 50 |160|37.5|27.5| 104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 3.0 2
HSK100A-LHC6R-200 6 |23|26| 50 |200|37.5|27.5| 144 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 32 2
HSK100A-LHC8R-75 8 |25]|28| 50 | 75|37.5|275| 26 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 27 1
HSK100A-LHC8R-160 8 | 25|28 | 50 |160|37.5|27.5| 104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 31 2
HSK100A-LHC8R-200 8 |25|28| 50 |200|37.5|27.5| 144 | LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 33 2
HSK100A-LHC10R-90 | 10|27 30| 50 | 90 | 425|325 | 42 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT4 2.8 1
HSK100A-LHC10R-160 | 10 | 27 | 30 | 50 |160|42.5|32.5| 105 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT4 31 2
HSK100A-LHC10R-200 | 10 | 27 | 30 | 50 |200|42.5|32.5 | 145 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT4 33 2
HSK100A-LHC12R-95 |[12|29|32| 50 | 95|47.5|375| 47 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 2.8 1
HSK100A-LHC12R-160 | 12 | 29| 32| 50 |160|47.5|37.5|105|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 32 2
HSK100A-LHC12R-200 (12 | 29| 32| 50 |200|47.5|37.5| 145 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 34 2
HSK100A-LHC14R-95 |14 (31|34 | 50 |95|475|375| 47 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT5 2.8 1
HSK100A-LHC14R-160 | 14 | 31| 34| 50 |160|47.5|37.5|107 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT5 3.2 2
HSK100A-LHC14R-200 | 14 | 31 | 34 | 50 |200{47.5|37.5|147 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT5 35 2
HSK100A-LHC16R-100 | 16 | 35|38 | 50 [100|52.5|42.5| 53 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 29 1
HSK100A-LHC16R-160 | 16 | 35|38 | 50 |160|52.5|42.5|107 |[LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 34 2
HSK100A-LHC16R-200 | 16 | 35|38 | 50 [200|52.5|42.5| 147 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 3.8 2

« R E EiI Unit of Length (mm)

=
(8



LHC ‘REE2 ] £ 5

HYDRAULIC TOOL HOLDER SERIES

(7> | HSK/LHC & B J11R

CHAIN HYDRAULIC TOOL HOLDER

HEALWAY
R %51
R Series

Fig.1 i ' chk ”l

Fig.2

| 45 Feature
- {E#EENE - G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

U2 4k R HERAE WER% MEBs E28

Clamping screw  Wrench

ZWNE Adjustment #HmF  (KGS) Fig.
Torque screw Wrench Weight

HSK100A-LHC18R-100 | 18 | 37 | 40 | 50 [100| 52.5 [ 42.5 | 53 |LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0] PT6 3.0
HSK100A-LHC18R-160 | 18 | 37 | 40 | 50 {160| 52.5|42.5 | 108 | LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 35

HSK100A-LHC18R-200 | 18 | 37 | 40 | 50 |200| 52.5 | 42.5 | 148 | LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 39

HSK100A-LHC20R-105 | 20 | 39 | 42 | 50 |105| 52.5 | 42.5| 59 [LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0] PT6 3.0

HSK100A-LHC20R-160 | 20 | 39 | 42 | 50 |160| 52.5 | 42.5 | 108 | LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0] PT6 3.6

HSK100A-LHC20R-200 | 20 | 39 | 42 | 50 |200| 52.5 | 42.5 | 148 | LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 40

HSK100A-LHC25R-110 | 25 | 53 | 57 | 63 |110| 61 | 51 | 62 |LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 3.7

HSK100A-LHC25R-160 | 25 | 53 | 57 | 63 |160| 61 | 51 | 110 [LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 4.7

HSK100A-LHC25R-200 | 25 | 53 | 57 | 63 |200| 61 | 51 | 150 [LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 54

HSK100A-LHC32R-110 | 32 | 58 | 63 | 75 |110| 65 | 55 | 62 [LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 39

HSK100A-LHC32R-160 | 32 | 58 | 63 | 75 |160| 65 | 55 | 110 [LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 5.0

N NP NN IR NN INIDNRE

HSK100A-LHC32R-200 | 32 | 58 | 63 | 75 |200| 65 | 55 | 150 [LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0] PT6 6.1

16 - EFEE{I Unit of Length (mm)



LHC R ENM&R&ERE I £5

SLIM & TAPER HYDRAULIC TOOL HOLDER SERIES

(7> || HSK/LHC 81 EM & & B TR/

CHAIN SLIM & TAPER HYDRAULIC TOOL HOLDER

HEALWAY
RS %5l
RS Series

- L3 -
v
[ !
L \ ‘ HH| B \ s o =
L4
L1
| 4525 Feature
- 1RAEF) T G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm
= HERAE BAERG REEs B8
i % A ;
Clariam?\irew W?iiefch #MAE Adjustment ®RF  (KGS)
ping Torque screw  Wrench Weight
HSK63A-LHC6RS-150 6 | 16|24 |50 (150|37.5|27.5|103 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 13
HSK63A-LHC8RS-150 8 |18 |26|50|150|37.5|27.5|104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 13

HSK63A-LHC10RS-150 10| 20| 28 | 50 |150|42.5 | 32,5 | 104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT4 14
HSK63A-LHC12RS-150 12122 |30 |50|150(47.5|37.5| 105 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 15
HSK63A-LHC14RS-150 14|24 |32 |50|150(47.5|37.5| 105 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 15
HSK63A-LHC16RS-150 16 | 26 | 34 | 50 |150| 52.5 | 42.5 | 106 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 16

HSK63A-LHC18RS-150 18|28 | 36 | 50 |150| 52.5 | 42,5 | 107 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 16

HSK63A-LHC20RS-150 20 (30| 38|50 |150|52.5|42.5 | 108 | LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 17

HSK100A-LHC6RS-180 6 | 16| 24|50 (180|37.5|27.5| 120 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 3.0

HSK100A-LHC8RS-180 8 | 18 |26 | 50 {180 37.5|27.5| 120 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0| PT3 31
HSK100A-LHC10RS-180 | 10|20 | 28 | 50 |180|42.5 | 32.5| 120 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT4 31
HSK100A-LHC12RS-180 | 12|22 |30 |50 |180|47.5|37.5|120 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT5 3.2
HSK100A-LHC14RS-180 | 14 | 24 | 32 | 50 |180| 47.5 |37.5| 121 |LHC-M8-1.25P-14L| PT4 55Nm. [ AJ-M8*1.0| PT5 3.2

HSK100A-LHC16RS-180 |16 |26 | 34|50 (180|52.5|42.5 121 |LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 33
HSK100A-LHC18RS-180 |18 | 28 | 36 | 50 (180|52.5 | 42.5 | 122 |LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 34
HSK100A-LHC20RS-180 |20 |30 |38 |50 (180|525 |42.5|122 |[LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 34

« REEMI Unitof Length(mm) 17



HYC RBRES

HYC HYDRAULIC COLLET

7| HYC REER

LCHAIN
CHAIN || HYC HYDRAULIC COLLET
¥5E Accuracy : 5um
|
_ A
(=2
:I] X —c 3
o—
I _J ‘
L
A% ££ (KGS)
Spec. L 1 o € Weight
HYC12 47 45 12 16.5 -
HYC16 52.5 50.5 16 20 -
HYC20 525 50.5 20 24 -
HYC32 62.5 60.5 32 355 -
HYC12 HYC20 HYC32
bk R E A RErEEE A
Spec. Range Spec. Range Spec. Range
HYC12-03 3 HYC20-03 3 HYC32-06 6
HYC12-04 4 HYC20-04 4 HYC32-08 8
HYC12-05 5 HYC20-05 5 HYC32-10 10
HYC12-06 6 HYC20-06 6 HYC32-12 12
HYC12-08 8 HYC20-07 7 HYC32-14 14
HYC20-08 8 HYC32-16 16
HYC16 HYC20-09 9 HYC32-18 18
R FHEEE HYC20-10 10 HYC32-20 20
Spec. Range HYC20-11 11 HYC32-25 25
HYC16-03 3 HYC20-12 12
HYC16-04 4 HYC20-13 13
HYC16-06 6 HYC20-14 14
HYC16-08 8 HYC20-15 15
ey 10 HYC20-16 16
HYC16-12 12

18 < EEEE{{ Unit of Length (mm)




HYC RB L KER
HYC HYDRAULIC COOLANT COLLET

(7> HYCREBH KER

CHAIN HYC HYDRAULIC COOLANT COLLET

HEAIIWAY

Fig.1 Fig.2
D D
[ — ]@ T — HQ
i | 3 L
L ——— %
I
HYC20-FID

RKIFEE :

Range )

HYC20-03-FID 3 1
HYC20-04-FID 4 1
HYC20-06-FID 6 2
HYC20-08-FID 8 2
HYC20-10-FID 10 2
HYC20-12-FID 12 2

« EEEMI Unitof Length(mm) 19



(—~L_LHAIN

HEAOWAY
I P IBe AT FR 2 ]

E5E TEL/
+886-4-26265252

1B 25 Fax/
+886-4-26267941

| J it Address /
aEarmaKE Q23258
No. 232, Wuquan Rd., Qingshui Dist., Taichung City 436, Taiwan

/AN

&3 4B Website /
www.chain-headway.com

s Eg
% [=]= =] Er‘:"&ﬁl;

AFEMR(PX) Website(EN) LINE WeChat Facebook YouTube

T

& EEE | EpE




